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Learning Vocab Concept Retrieval Success Criteria Red Zone
Intention
W1L1 Treaty of Versailles Cause and Www1 e | can identify and explain | How far do you agree that Hitler’s foreign
To understand Appeasement consequence long-term and short- policy was the main reason for the
the key causes Nazi term causes of WW2 outbreak of WW2?
of WW2 Significance e | can describe how the
Treaty of Versailles and
Interpretations economic issues

contributed to the
outbreak of war
e | can assess the role of

key figures and
ideologies in causing
WW2.
W1 L2 Resistance Cause and Causes of e | can describe how daily Explain the differences in how France
To explain the Occupation consequence Ww2 life changed for ordinary and the USSR experienced occupation.
impact of WW2 Europeans during WW2
on ordinary Similarity and e | can explain the impact
Europeans difference of rationing, bombing,
and occupation
Historical evidence e | can assess the different

experiences across
various European

countries
W2 L3 Nuremberg Trials Change and e | can identify immediate To what extent did WW?2 lead to long-
To understand Cold War continuity Life in WW2 and long-term lasting peace in Europe?
the Causes of consequences of WW2

consequences Cause and WWw?2
of WW2 consequence
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Significance | can explain the political
and social changes
resulting from WWwW2
| can assess how WW2
reshaped Europe
W3 L4 Communism Cause and Consequence | can outline key events Explain why the Chinese Communist
To understand Revolution consequence s of WW2 from Mao’s early life that Party was formed in the 1920s.
the early life of Mao shaped his political ideas
Mao Zedong CCP Significance | can explain why and
and the how the Chinese
formation of the Change and Communist Party was
Chinese continuity formed
Communist
Party (CCP)
W3 L5 Collectivisation Cause and Mao & CCP | can explain the How far do you agree that the Great Leap
To understand Famine consequence intended goals behind Forward was a complete failure?
the goals and Five-Year Plan Mao’s Great Leap
consequences Significance Forward
of the Great | can describe how the
Leap Forward Interpretations policy was implemented

Historical evidence

across China

| can evaluate the
consequences and
failures of the Great Leap
Forward
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W4 L6 Mao’s Little Red Cause and Great Leap | can outline Mao’s Assess the social impact of the Cultural
To understand Book consequence Forward motivations for Revolution on young people in China.
the goals and Life in WW2 launching the Cultural
consequences Change and Revolution.
of the Cultural continuity | can describe key events
Revolution and policies during the
Interpretations Cultural Revolution.
| can assess the social,
political, and economic
consequences of the
Cultural Revolution.
W5 L7 Satellite States Cause and Causes of | can identify political, Describe the political and economic
To understand consequence Ww2 economic, and social problems faced by the USSR in the
the problems of Mao & CCP problems facing the 1980s.
the Soviet Union Change and Soviet Union in the late
in the late 1980s continuity 1980s.
| can explain how these
Significance problems contributed to

the decline of Soviet
power.

| can evaluate which
problems were most
significant in weakening
the Soviet Union.
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W5 L8 Glasnost Cause and Cultural | can describe the main Explain the aims of Glasnost and
To analyse Perestroika consequence Revolution objectives of Glasnost Perestroika.
Gorbachev’s and Perestroika.
policies of Change and | can analyse how these
Glasnost and continuity policies impacted Soviet
Perestroika society and governance.
Interpretations | can evaluate the
success and failures of
GorbacheV’s policies.
W6 L9 Ethnic Conflict Change and USSR | can describe how the Describe how life changed for newly
To understand Independence continuity Problems collapse of the Soviet independent countries after the collapse
what happened Great Leap Union affected newly of the USSR.
to former Soviet Similarity and Forward independent countries
Union countries difference | can explain key
after 1991 political, economic, and
Cause and social changes after 1991
consequence | can assess the long-

Historical evidence

term impacts of
independence on
different former Soviet
states.
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W7 L10 Authoritarianism Interpretations Glasnost & | can identify various How useful is Interpretation A for
To analyse Perestroika historical interpretations understanding the role of economic
different Historical evidence about why the Soviet failure in the USSR's collapse?
historical Consequence Union fell
interpretations Significance s of WW?2 | can compare different
on the fall of the historians’ arguments
Soviet Union and evidence.
| can evaluate which
interpretation | find
most convincing and
explain why.
W7 L11 Privatisation Cause and Mao | can explain the main Explain two of Thatcher’s key policiies
To understand Trade Unions consequence policies introduced by and the public response to them
how Thatcher’s Inflation Margaret Thatcher’s
policies changed Change and government.
Britain continuity | can describe how these
policies affected
Interpretations industries, communities,

and everyday life in
Britain.

| can explain why
Thatcher’s policies were
seen as both positive
and negative by different
groups.
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New Labour Cause and e | can explain the key Explain two of Blair’s key policiies and
W8 L12 Devolution consequence Great Leap policies introduced by the impact these had on the UK
To understand Minimum Wage Forward Tony Blair’s government.
how Blair’s Change and e | can describe how Blair’s
policies changed continuity policies affected
Britain education, healthcare,
Interpretations and society in Britain.

| can explain why Blair’s
policies were seen as
both successful and
controversial.




